
ASSEMBLY INSTRUCTIONS 

HAVING TROUBLE?

TOLL-FREE:

1-888-670-6684
IMPORTANT: Please read this manual carefully 
before beginning assembly of this product.
Keep this manual for future reference.

MOORE
4-PIECE CONVERSATION SET
—ARM CHAIR
PRODUCT NO. 188-1390-8



REDISCOVER YOUR SPACE

To the trend seekers and design mavens, 

CANVAS™ is the furniture and décor brand 

that helps you imagine and create a space 

you can be proud of.

That’s because CANVAS™ offers style with 

ease with products that are made for real life 

and Canadian inspired.

We would love to hear from you and welcome 

your thoughtful feedback. Visit our website   

at canadiantire.ca to tell us about your 

experience, and share your photos with us 

using #myCANVASstyle.

Show us how you bring CANVAS™ products  

to life. We can’t wait to see!



TABLE OF CONTENTS

4

6

7

8

13

14

14

14

Parts List

Hardware List

Before You Begin Assembly

Step-by-step Guide

Technical Data

Troubleshooting

Caring for Your Item

Warranty

WARNING! TO REDUCE THE RISK OF SERIOUS INJURY,
READ THE FOLLOWING SAFETY INSTRUCTIONS BEFORE
ASSEMBLING AND USING THE PRODUCT.

•  Please read and understand this entire manual before attempting to assemble,
 operate, or install the product.
•  Any assembly or maintenance of the product must be carried out by adults only.
•  Some parts may contain sharp edges. Wear protective gloves if necessary.
•  To prevent damage, place all parts on a level surface during assembly. Add a
 layer of protective surface if needed.

2 people

TOOLS REQUIRED

NOTE: A drill is not recommended; be aware 

of over-drilling in order to avoid damage

 

No. 2 Flat-head Screwdriver
Tip Shown Actual Size



MOORE 4-PIECE CONVERSATION SET—ARM CHAIR4

PARTS LIST

ITEM DESCRIPTION THUMBNAIL          QUANTITY 

1� Right arm 1

2� Left arm 1

3� Bottom support 1 1

4 Bottom support 2 1

5 Seat panel 1

6 Seat cushion 1

7 1Back cushion



MOORE 4-PIECE CONVERSATION SET—ARM CHAIR 5

EXPLODED VIEW

7

6

1

2

5

4

3



MOORE 4-PIECE CONVERSATION SET—ARM CHAIR6

HARDWARE LIST

ITEM DESCRIPTION THUMBNAIL          QUANTITY 

A Screw M6x60 2

B Screw with washer M6x32 2

C Screw with washer M6x20 2

Hex keyH

Spacer 6.5x22x13

1

G 2

F Barrel nut M6 Ø10x20 4

E Screw M6x65 2

D Screw M6x85 2



MOORE 4-PIECE CONVERSATION SET—ARM CHAIR 7

BEFORE YOU BEGIN ASSEMBLY

?

MAKE SURE ALL PARTS ARE PRESENT

Compare all pieces to the parts and hardware lists, and
make sure you have all tools required for assembly.

REMOVE PACKAGING MATERIALS

Place packing materials back in the box. Do not dispose of
packaging materials until assembly is complete.

READ EACH STEP CAREFULLY

ASSEMBLE IN A CLEARED AREA

Place all parts from the box on the floor in front of you on a clean,
dry, level surface to protect the product as it is being built.

Make sure you understand each step. If you have any questions,
contact CANVAS™ customer service at 1-888-670-6684 (toll free).



MOORE 4-PIECE CONVERSATION SET—ARM CHAIR8

STEP-BY-STEP GUIDE

STEP 1

Attach the right arm 1 to the bottom panel 3 and 4 using 

the barrel nut F and screws D and E, aligning the holes.

When assembling, secure  the barrel nut F with the flat-head 

screwdriver, and hand-tighten only.

NOTE: 
Do not tighten screws all

the way until you have

assembled the arm chair.

Once assembly is complete,

tighten each screw.

3 X11 X1 4 X1 D X1 E X1 F X2

80%

80%

1

3

4

E

D

F

F



STEP-BY-STEP GUIDE

MOORE 4-PIECE CONVERSATION SET—ARM CHAIR 9

NOTE: 
Do not tighten screws all

the way until you have

assembled the arm chair.

Once assembly is complete,

tighten each screw.

STEP 2

Connect the left arm 2 to the assembled frame using the

barrel nut F and screws D and E, aligning the holes.

When assembling, secure the barrel nut F with the flat-head 

screwdriver, and hand-tighten only.

2 X1 D X1 E X1 F X2

2

E

80%

80%

F D

F



MOORE 4-PIECE CONVERSATION SET—ARM CHAIR10

STEP-BY-STEP GUIDE

Connect the seat panel 5 to the the assembled frame using the

screws B with washers and the spacers G, and then using the

screws C with washers, finally using the screws A, aligning the holes.

When assembling, hand-tighten only.

NOTE: 
Do not tighten screws all

the way until you have

assembled the arm chair.

Once assembly is complete,

tighten each screw.

STEP 3

5 X1 A X2 B X2 C X2 G X2

B

A

80%

G

C
80%

80%

5



MOORE 4-PIECE CONVERSATION SET—ARM CHAIR 11

STEP-BY-STEP GUIDE

STEP 4

Tighten the screws with the hex key H.

H X1

100%

H



STEP-BY-STEP GUIDE

MOORE 4-PIECE CONVERSATION SET—ARM CHAIR12

STEP 5

6 X1

Put the seat cushion 6 and the back cushions 7 on the seat.

7 X1

7

6



MOORE 4-PIECE CONVERSATION SET—ARM CHAIR 13

TECHNICAL DATA

SPECIFICATIONS

ASSEMBLED DIMENSIONS  (W x D x H)

ASSEMBLED WEIGHT

MAXIMUM WEIGHT CAPACITY

70.4 x 80.2 x 68.7 cm

27 3/4 x 31 5/8 x 27 3/64˝

10.3 kg

22 lb 11 oz

110 kg

242 lb 8 oz

68.7 cm
(27 3/64˝)

80.2 cm
(31 5/8˝)

70.4 cm
(27 3/4˝)



ASSEMBLY TROUBLESHOOTING

CALL US;
WE CAN HELP

BEFORE RETURNING  
YOUR PRODUCT

If you have questions regarding your product or require
warranty assistance, please call our customer service helpline.

�

TOLL-FREE:

1-888-670-6684

HAVING TROUBLE? 
LET US HELP YOU!

CARING FOR YOUR ITEM

1
Always keep children under close supervision while they are using or around this 
product. Never leave children unattended.

2 This product is intended for domestic, outdoor use only.

3 Do not light any fires below or near the product.

4
Check all nuts and bolts periodically for tightness. When required, tighten them 
again.

5 We recommend the use of furniture covers when not in use. 

MOORE 4-PIECE CONVERSATION SET—ARM CHAIR14

WARRANTY INFORMATION

This CANVAS product carries a two (2) year warranty against defects in workmanship and 
materials. Trileaf Distribution agrees to replace a defective product free of charge within 
the stated warranty period, when returned by the original purchaser with proof of purchase. 
This product is not guaranteed against wear or breakage due to misuse and/or abuse.

Made in Vietnam�

Imported by Trileaf Distribution Trifeuil Toronto, Canada M4S 2B8

PRODUCT NO. 188-1390-8

2-YEAR LIMITED WARRANTY

OFF SEASON: Clean and dry before storing in a dry, sheltered area.

CLEANING: Wood is a living material. Minor cracks and a change of colour over time are natural 
features of hardwood. All furniture is treated with hardwood sealer oil before leaving the 
factory and should be reoiled at the end of the season to maintain furniture’s condition. 
This process should be done annually with hardwood sealer oil thinly applied to the 
wood. If timber is exposed to rain, the surface fibres of the timber will rise slightly and 
have a rough texture. This is normal. Light sanding with semi-fine sandpaper will achieve 
a smooth finish. When this is finished, oil the timber to restore its colour. 



REDISCOVER YOUR SPACE



ASSEMBLY INSTRUCTIONS 

HAVING TROUBLE?

TOLL-FREE:

1-888-670-6684
IMPORTANT: Please read this manual carefully 
before beginning assembly of this product.
Keep this manual for future reference.

MOORE
4-PIECE CONVERSATION SET
—TABLE
PRODUCT NO. 188-1390-8



REDISCOVER YOUR SPACE

To the trend seekers and design mavens, 

CANVAS™ is the furniture and décor brand 

that helps you imagine and create a space 

you can be proud of.

That’s because CANVAS™ offers style with 

ease with products that are made for real life 

and Canadian inspired.

We would love to hear from you and welcome 

your thoughtful feedback. Visit our website   

at canadiantire.ca to tell us about your 

experience, and share your photos with us 

using #myCANVASstyle.

Show us how you bring CANVAS™ products  

to life. We can’t wait to see!



TABLE OF CONTENTS

TOOLS REQUIRED

4

6

7

8

9

10

10

10

Parts List

Hardware List

Before You Begin Assembly

Step-by-step Guide

Technical Data

Troubleshooting

Caring for Your Item

Warranty

WARNING! TO REDUCE THE RISK OF SERIOUS INJURY,
READ THE FOLLOWING SAFETY INSTRUCTIONS BEFORE
ASSEMBLING AND USING THE PRODUCT.

•  Please read and understand this entire manual before attempting to assemble,
 operate, or install the product.
•  Any assembly or maintenance of the product must be carried out by adults only.
•  Some parts may contain sharp edges. Wear protective gloves if necessary.
•  To prevent damage, place all parts on a level surface during assembly. Add a
 layer of protective surface if needed.

1 personWrench (included)



MOORE 4-PIECE CONVERSATION SET—TABLE4

PARTS LIST

ITEM DESCRIPTION THUMBNAIL          QUANTITY 

1� Table top 1

2� Table leg 4



MOORE 4-PIECE CONVERSATION SET—TABLE 5

EXPLODED VIEW

1

2
4X



MOORE 4-PIECE CONVERSATION SET—TABLE6

HARDWARE LIST

ITEM DESCRIPTION THUMBNAIL          QUANTITY 

A 4

B Wrench 1

Screw with spring washer
and washer M8x70



MOORE 4-PIECE CONVERSATION SET—TABLE 7

BEFORE YOU BEGIN ASSEMBLY

?

MAKE SURE ALL PARTS ARE PRESENT

Compare all pieces to the parts and hardware lists, and
make sure you have all tools required for assembly.

REMOVE PACKAGING MATERIALS

Place packing materials back in the box. Do not dispose of
packaging materials until assembly is complete.

READ EACH STEP CAREFULLY

ASSEMBLE IN A CLEARED AREA

Place all parts from the box on the floor in front of you on a clean,
dry, level surface to protect the product as it is being built.

Make sure you understand each step. If you have any questions,
contact CANVAS™ customer service at 1-888-670-6684 (toll free).



MOORE 4-PIECE CONVERSATION SET—TABLE8

STEP-BY-STEP GUIDE

STEP 1

Attach the table leg 2 to the table top 1 using the

screws A with spring washers and washers, aligning the holes.

When assembled, tighten the screws with the wrench B.

2 X41 X1 A X4 B X1

2

1

A

100%

B



MOORE 4-PIECE CONVERSATION SET—TABLE 9

TECHNICAL DATA

SPECIFICATIONS

ASSEMBLED DIMENSIONS  (W x D x H)

ASSEMBLED WEIGHT

MAXIMUM WEIGHT CAPACITY

109.9 x 60 x 42 cm

43 1/4 x 23 5/8 x 16 1/2˝

7.4 kg

16 lb 5 oz

30 kg

66 lb

60 cm
(23 5/8˝)

109.9 cm
(43 1/4˝)

42 cm
(16 1/2˝)



ASSEMBLY TROUBLESHOOTING

CALL US;
WE CAN HELP

BEFORE RETURNING  
YOUR PRODUCT

If you have questions regarding your product or require
warranty assistance, please call our customer service helpline.

�

TOLL-FREE:

1-888-670-6684

HAVING TROUBLE? 
LET US HELP YOU!

CARING FOR YOUR ITEM

1
Always keep children under close supervision while they are using or around this 
product. Never leave children unattended.

2 This product is intended for domestic, outdoor use only.

3 Do not light any fires below or near the product.

4
Check all nuts and bolts periodically for tightness. When required, tighten them 
again.

5 We recommend the use of furniture covers when not in use. 

MOORE 4-PIECE CONVERSATION SET—TABLE10

WARRANTY INFORMATION

This CANVAS product carries a two (2) year warranty against defects in workmanship and 
materials. Trileaf Distribution agrees to replace a defective product free of charge within 
the stated warranty period, when returned by the original purchaser with proof of purchase. 
This product is not guaranteed against wear or breakage due to misuse and/or abuse.

Made in Vietnam�

Imported by Trileaf Distribution Trifeuil Toronto, Canada M4S 2B8

PRODUCT NO. 188-1390-8

2-YEAR LIMITED WARRANTY

OFF SEASON: Clean and dry before storing in a dry, sheltered area.

CLEANING: Wood is a living material. Minor cracks and a change of colour over time are natural 
features of hardwood. All furniture is treated with hardwood sealer oil before leaving the 
factory and should be reoiled at the end of the season to maintain furniture’s condition. 
This process should be done annually with hardwood sealer oil thinly applied to the 
wood. If timber is exposed to rain, the surface fibres of the timber will rise slightly and 
have a rough texture. This is normal. Light sanding with semi-fine sandpaper will achieve 
a smooth finish. When this is finished, oil the timber to restore its colour. 



REDISCOVER YOUR SPACE



ASSEMBLY INSTRUCTIONS 

HAVING TROUBLE?

TOLL-FREE:

1-888-670-6684
IMPORTANT: Please read this manual carefully 
before beginning assembly of this product.
Keep this manual for future reference.

MOORE
4-PIECE CONVERSATION SET
—LOVESEAT
PRODUCT NO. 188-1390-8



REDISCOVER YOUR SPACE

To the trend seekers and design mavens, 

CANVAS™ is the furniture and décor brand 

that helps you imagine and create a space 

you can be proud of.

That’s because CANVAS™ offers style with 

ease with products that are made for real life 

and Canadian inspired.

We would love to hear from you and welcome 

your thoughtful feedback. Visit our website   

at canadiantire.ca to tell us about your 

experience, and share your photos with us 

using #myCANVASstyle.

Show us how you bring CANVAS™ products  

to life. We can’t wait to see!



TABLE OF CONTENTS

4

6

7

8

16

17

17

17

Parts List

Hardware List

Before You Begin Assembly

Step-by-step Guide

Technical Data

Troubleshooting

Caring for Your Item

Warranty

WARNING! TO REDUCE THE RISK OF SERIOUS INJURY,
READ THE FOLLOWING SAFETY INSTRUCTIONS BEFORE
ASSEMBLING AND USING THE PRODUCT.

•  Please read and understand this entire manual before attempting to assemble,
 operate, or install the product.
•  Any assembly or maintenance of the product must be carried out by adults only.
•  Some parts may contain sharp edges. Wear protective gloves if necessary.
•  To prevent damage, place all parts on a level surface during assembly. Add a
 layer of protective surface if needed.

2 people

TOOLS REQUIRED

NOTE: A drill is not recommended; be aware 

of over-drilling in order to avoid damage

 

No. 2 Flat-head Screwdriver
Tip Shown Actual Size



MOORE 4-PIECE CONVERSATION SET—LOVESEAT4

PARTS LIST

ITEM DESCRIPTION THUMBNAIL          QUANTITY 

1� Right arm 1

2� Left arm 1

3� Bottom support 1 1

4 Bottom support 2 1

5 Seat panel 1 1

6 Seat panel 2 1

7 Seat cushion 1

8 Back cushion 2



MOORE 4-PIECE CONVERSATION SET—LOVESEAT 5

EXPLODED VIEW

7

6

1

2

3

5

2X
8

4



MOORE 4-PIECE CONVERSATION SET—LOVESEAT6

HARDWARE LIST

ITEM DESCRIPTION THUMBNAIL          QUANTITY 

A Screw M6x60 2

B Screw with washer M6x32 6

C Screw with washer M6x20 5

I L bracket 25x37x52 1

J Hex key 2

H Spacer 6.5x22x13 4

G Sleeve nut M6x33 2

F Barrel nut M6 Ø10x20 4

E Screw M6x65 2

D Screw M6x85 2



MOORE 4-PIECE CONVERSATION SET—LOVESEAT 7

BEFORE YOU BEGIN ASSEMBLY

?

MAKE SURE ALL PARTS ARE PRESENT

Compare all pieces to the parts and hardware lists, and
make sure you have all tools required for assembly.

REMOVE PACKAGING MATERIALS

Place packing materials back in the box. Do not dispose of
packaging materials until assembly is complete.

READ EACH STEP CAREFULLY

ASSEMBLE IN A CLEARED AREA

Place all parts from the box on the floor in front of you on a clean,
dry, level surface to protect the product as it is being built.

Make sure you understand each step. If you have any questions,
contact CANVAS™ customer service at 1-888-670-6684 (toll free).



MOORE 4-PIECE CONVERSATION SET—LOVESEAT8

STEP-BY-STEP GUIDE

STEP 1

Attach the right arm 1 to the bottom panel 3 and 4 using the

barrel nut F and screws D and E, aligning the holes.

When assembling, secure the barrel nut F with the flat-head 

screwdriver, and tighten the screws with the hex key J.

3 X11 X1 4 X1 D X1 E X1 F X2 J

1

3

4

D

E

100%

100%

F

F

J

J



STEP-BY-STEP GUIDE

MOORE 4-PIECE CONVERSATION SET—LOVESEAT 9

100%

STEP 2

Connect the left arm 2 to the assembled frame using the

barrel nut F and screws D and E, aligning the holes.

When assembling, secure the barrel nut F with the flat-head 

screwdriver, and tighten the screws with the hex key J.

2 X1 D X1 E X1 F X2 J

2

D
F J

100%

E

F

J



MOORE 4-PIECE CONVERSATION SET—LOVESEAT10

STEP-BY-STEP GUIDE

Attach the seat panel 5 to the seat panel 6 using the

screws B with washers and the sleeve nut G, aligning the holes.

When assembling, hand-tighten only.

NOTE: 
Do not tighten screws all

the way until you have

assembled the loveseat.

Once assembly is complete,

tighten each screw.

STEP 3

5 X1 6 X1 B X2 G X2

80%

5

6

B

G



MOORE 4-PIECE CONVERSATION SET—LOVESEAT 11

STEP-BY-STEP GUIDE

Put the assembled frame down the assembled seat panel.

STEP 4



MOORE 4-PIECE CONVERSATION SET—LOVESEAT12

STEP-BY-STEP GUIDE

Connect using the screws C with washers and 

the L bracket I, aligning the holes.

When assembling, hand-tighten only.

C X5 I X1

STEP 5

C

I

C
80%

80%

NOTE: 
Do not tighten screws all

the way until you have

assembled the loveseat.

Once assembly is complete,

tighten each screw.



MOORE 4-PIECE CONVERSATION SET—LOVESEAT 13

STEP-BY-STEP GUIDE

Continue securing the frame to the seat panel using screws A 

as well as screws B with washers and spacers H, aligning the holes.

When assembling, hand-tighten only.

STEP 6

B X4A X2 H X4

NOTE: 
Do not tighten screws all

the way until you have

assembled the loveseat.

Once assembly is complete,

tighten each screw.

80%

80%
A

B

H



MOORE 4-PIECE CONVERSATION SET—LOVESEAT14

STEP-BY-STEP GUIDE

100%

STEP 7

Finally, tighten the screws with the hex key J.

J X2

J



MOORE 4-PIECE CONVERSATION SET—LOVESEAT 15

STEP-BY-STEP GUIDE

STEP 8

7 X1

Put the seat cushion 7 and the back cushions 8 on the seat.

8 X2

7

8

8



TECHNICAL DATA

SPECIFICATIONS

ASSEMBLED DIMENSIONS  (W x D x H)

ASSEMBLED WEIGHT

MAXIMUM WEIGHT CAPACITY

MOORE 4-PIECE CONVERSATION SET—LOVESEAT16

160.4 x 80.2 x 68.7 cm

63 1/8 x 31 5/8 x 27 3/64˝

17.8 kg

39 lb 4 oz

220 kg

485 lb

68.7 cm
(27 3/64")

80.2 cm
(31 5/8")

160.4 cm
(63 1/8")



MOORE 4-PIECE CONVERSATION SET—LOVESEAT 17

ASSEMBLY TROUBLESHOOTING

CALL US;
WE CAN HELP

BEFORE RETURNING  
YOUR PRODUCT

If you have questions regarding your product or require
warranty assistance, please call our customer service helpline.

�

TOLL-FREE:

1-888-670-6684

HAVING TROUBLE? 
LET US HELP YOU!

CARING FOR YOUR ITEM

1
Always keep children under close supervision while they are using or around this 
product. Never leave children unattended.

2 This product is intended for domestic, outdoor use only.

3 Do not light any fires below or near the product.

4
Check all nuts and bolts periodically for tightness. When required, tighten them 
again.

5 We recommend the use of furniture covers when not in use. 

WARRANTY INFORMATION

This CANVAS product carries a two (2) year warranty against defects in workmanship and 
materials. Trileaf Distribution agrees to replace a defective product free of charge within 
the stated warranty period, when returned by the original purchaser with proof of purchase. 
This product is not guaranteed against wear or breakage due to misuse and/or abuse.

Made in Vietnam�

Imported by Trileaf Distribution Trifeuil Toronto, Canada M4S 2B8

PRODUCT NO. 188-1390-8

2-YEAR LIMITED WARRANTY

OFF SEASON: Clean and dry before storing in a dry, sheltered area.

CLEANING: Wood is a living material. Minor cracks and a change of colour over time are natural 
features of hardwood. All furniture is treated with hardwood sealer oil before leaving the 
factory and should be reoiled at the end of the season to maintain furniture’s condition. 
This process should be done annually with hardwood sealer oil thinly applied to the 
wood. If timber is exposed to rain, the surface fibres of the timber will rise slightly and 
have a rough texture. This is normal. Light sanding with semi-fine sandpaper will achieve 
a smooth finish. When this is finished, oil the timber to restore its colour. 



REDISCOVER YOUR SPACE



INSTRUCTIONS D’ASSEMBLAGE

VOUS RENCONTREZ DES PROBLÈMES?

NUMÉRO SANS FRAIS :

1 888 670-6684

ENSEMBLE DE DÉTENTE 
MOORE DE 4 PIÈCES — 
FAUTEUIL
Nº DE MODÈLE : 188-1390-8

IMPORTANT : Veuillez lire attentivement ce manuel 
avant de commencer l’assemblage de ce produit.
Conservez ce guide aux fins de consultation ultérieure.



REDÉCOUVREZ VOTRE ESPACE

Pour les chercheurs de tendances et les experts en design, 

CANVASMC est la marque de meubles et de décoration qui 

vous aide à imaginer et à créer un espace dont vous 

pouvez être fier.

C’est parce que CANVASMC offre un style facile avec des 

produits qui sont faits pour la vie réelle et d’inspiration 

canadienne.

Nous serions ravis de connaître votre opinion et nous vous 

invitons à nous faire part de vos commentaires. Visitez 

notre site Web à l’adresse canadiantire.ca pour nous faire 

part de votre expérience et partagez vos photos en 

utilisant le mot-clic #MonStyleCANVAS.

Montrez-nous comment vous donnez vie aux articles 

CANVASMC. Nous avons hâte de les voir!



TABLE DES MATIÈRES

4

6

7

8

13

14

14

14

Liste des pièces

Liste de la quincaillerie

Avant de commencer l’assemblage

Guide étape par étape

Fiche technique

Dépannage

Entretien de votre article

Garantie

2 personnes

OUTILS REQUIS

REMARQUE : Une perceuse n’est pas recommandée; 

soyez conscient du surperçage afin d'éviter tout dommage

 

Tournevis à tête plate n° 2
Taille réelle de la tête

AVERTISSEMENT! VEUILLEZ LIRE LES CONSIGNES DE SÉCURITÉ 
SUIVANTES AVANT D’ASSEMBLER ET D’UTILISER L’ARTICLE 
AFIN DE RÉDUIRE LE RISQUE DE BLESSURES GRAVES.

• Veuillez lire et comprendre l’intégralité de ce guide d’utilisation avant de tenter 
d’assembler, d’utiliser ou d’installer le produit.

• L’assemblage et l’entretien de cet article ne doivent être effectués que par des 
adultes.

• Certaines pièces peuvent contenir des bords tranchants. Portez des gants de 
protection si nécessaire.  

• Pour éviter tout dommage, placez toutes les pièces sur une surface plane pendant 
l’assemblage. Ajoutez une couche de protection de surface, le cas échéant.



ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — FAUTEUIL4

  

LISTE DES PIÈCES

RÉFÉRENCE DESCRIPTION ILLUSTRATION QUANTITÉ

1� Accoudoir droit 1

2� Accoudoir gauche 1

3� Support inférieur 1 1

4 Support inférieur 2 1

5 Panneau de siège 1

6 Coussin de siège 1

7 1Coussin de dossier



ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — FAUTEUIL 5

VUE ÉCLATÉE

7

6

1

2

5

4

3



ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — FAUTEUIL6

  RÉFÉRENCE DESCRIPTION ILLUSTRATION QUANTITÉ

LISTE DE LA QUINCAILLERIE

A Vis M6x60 2

B Vis avec rondelle M6x32 2

C Vis avec rondelle M6x20 2

Clé hexagonaleH

Entretoise 6,5x22x13

1

G 2

F Écrou de barillet M6 Ø10x20 4

E Vis M6x65 2

D Vis M6x85 2



ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — FAUTEUIL 7

AVANT DE COMMENCER L’ASSEMBLAGE

?

S'ASSURER QUE TOUTES LES PIÈCES SONT PRÉSENTES

Comparez toutes les pièces aux listes de pièces et de quincaillerie et 
assurez-vous d’avoir tous les outils nécessaires pour l’assemblage.

RETIRER LES MATÉRIAUX D’EMBALLAGE

Remettez les matériaux d’emballage dans la boîte. Ne les jetez pas avant 
d’avoir terminé l’assemblage.

LIRE ATTENTIVEMENT CHAQUE ÉTAPE

ASSEMBLER DANS UNE ZONE DÉGAGÉE

Placez toutes les pièces de la boîte sur le sol devant vous sur une surface 
propre, sèche et plane afin de protéger l’article pendant son assemblage.

Assurez-vous de bien comprendre chaque étape. Si vous avez des questions, 
communiquez avec le service à la clientèle CANVASMC au 1 888 670-6684 (sans frais).



ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — FAUTEUIL8

GUIDE ÉTAPE PAR ÉTAPE

ÉTAPE 1

3 X11 X1 4 X1 D X1 E X1 F X2

80 %

80 %

1

3

4

E

D

F

F

REMARQUE : 
Ne serrez pas les vis à fond 

avant d’avoir assemblé 

entièrement le fauteuil.

Une fois l’assemblage 

terminé, serrez chaque vis.

Fixez l’accoudoir droit 1 au panneau inférieur 3 et 4 au moyen de 

l’écrou à barillet F et des vis D et E en alignant les trous.

Une fois l'assemblage terminé, fixez l’écrou de barillet F à l’aide 
du tournevis à tête plate, puis serrez à la main seulement.



ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — FAUTEUIL 9

GUIDE ÉTAPE PAR ÉTAPE

ÉTAPE 2

2 X1 D X1 E X1 F X2

2

E

80 %

80 %

F D

F

REMARQUE : 
Ne serrez pas les vis à fond 

avant d’avoir assemblé 

entièrement le fauteuil.

Une fois l’assemblage 

terminé, serrez chaque vis.

Connectez l’accoudoir gauche 2 au cadre assemblé au moyen 

de l’écrou à barillet F, des vis D et E, en alignant les trous.

Une fois l'assemblage terminé, fixez l’écrou de barillet F à l’aide 
du tournevis à tête plate, puis serrez à la main seulement.



ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — FAUTEUIL10

GUIDE ÉTAPE PAR ÉTAPE

ÉTAPE 3

5 X1 A X2 B X2 C X2 G X2

B

A

80 %

G

C
80 %

80 %

5

REMARQUE : 
Ne serrez pas les vis à fond 

avant d’avoir assemblé 

entièrement le fauteuil.

Une fois l’assemblage 

terminé, serrez chaque vis.

Connectez le panneau de siège 5 au cadre assemblé au moyen des 

vis B avec les rondelles et les entretoises G, puis au moyen des vis 

C avec des rondelles, enfin avec les vis A, en alignant les trous.

Une fois l'assemblage terminé, serrez les vis à la main seulement.



ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — FAUTEUIL 11

GUIDE ÉTAPE PAR ÉTAPE

ÉTAPE 4

Serrez les vis à l’aide de la clé hexagonale H.

H X1

100 %

H



ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — FAUTEUIL12

GUIDE ÉTAPE PAR ÉTAPE

ÉTAPE 5

6 X1

Mettez le coussin de siège 6 et les coussins de dossier 7 sur le siège.

7 X1

7

6



ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — FAUTEUIL 13

FICHE TECHNIQUE

DIMENSIONS (larg. x P. x H.)

POIDS

CAPACITÉ DE POIDS MAXIMALE

FICHE TECHNIQUE

70,4 x 80,2 x 68,7 cm

27 3/4 x 31 5/8 x 27 3/64 po

10,3 kg

22 lb 11 oz

110 kg

242 lb 8 oz

68,7 cm
(27 3/64 po)

80,2 cm
(31 5/8 po)

70,4 cm
(27 3/4 po)



ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — FAUTEUIL14

RÉSOUDRE LES PROBLÈMES DE L’ASSEMBLAGE

Si vous avez des questions concernant votre article ou avez
besoin d’une assistance au titre de la garantie, veuillez

appeler notre service d’assistance à la clientèle.

�

NUMÉRO SANS FRAIS :

1 888 670-6684

VOUS RENCONTREZ DESPROBLÈMES?
LAISSEZ-NOUS VOUS AIDER!

 

AVEC VOTRE ARTICLE

1
Gardez toujours les enfants sous étroite surveillance pendant qu’ils utilisent ou 
autour de ce produit. Ne laissez jamais les enfants sans surveillance.

2
Cet article est uniquement destiné à un usage domestique et doit être utilisé à 
l’extérieur.

3 N’allumez pas un feu sous ou près de l’article.

4
Assurez-vous périodiquement que tous les écrous et boulons sont bien serrés. 
Au besoin, resserrez-les.

5
Nous recommandons l’utilisation de housses de meubles lorsque l’article n’est pas 
utilisé.

INFORMATIONS SUR LA GARANTIE

Fabriqué au Vietnam

�Importé par Trileaf Distribution Trifeuil Toronto, Canada M4S 2B8

Nº DE MODÈLE : 188-1390-8

GARANTIE LIMITÉE DE 2 ANS

HORS SAISON : Nettoyez et séchez l’article avant de le ranger dans un endroit sec et abrité.

NETTOYAGE : Le bois est un matériau vivant. Des fissures mineures et un changement de couleur au 
fil du temps sont des caractéristiques naturelles du bois dur. Tous les meubles sont 
traités avec de l’huile de scellement pour bois dur avant de quitter l’usine et doivent 
être huilés à nouveau à la fin de la saison pour maintenir l’état des meubles. Ce 
processus doit être effectué chaque année avec de l’huile de scellant pour bois dur 
appliquée en couche mince sur le bois. Si le bois est exposé à la pluie, les fibres de 
surface du bois se soulèveront légèrement et auront une texture rugueuse. C’est 
normal. Un ponçage léger avec du papier abrasif semi-fin permettra d’obtenir une 
finition lisse. Lorsque cela est terminé, huilez le bois pour lui redonner sa couleur.

APPELEZ-NOUS;
NOUS POUVONS

VOUS AIDER

AVANT DE
RETOURNER

VOTRE ARTICLE

 

ARRÊTEZ!

Cet article CANVAS comprend une garantie de deux (2) ans contre les défauts de fabrication 
et de matériaux du cadre et un (1) an de garantie pour toutes les autres pièces. Distribution 
Trifeuil consent à remplacer l’article défectueux sans frais lorsqu’il est retourné, accompagné 
de la preuve d’achat, par l’acheteur original au cours de la période de garantie convenue. 
Exclusion : usure ou bris causés par un usage abusif ou inapproprié.



REDÉCOUVREZ VOTRE ESPACE



INSTRUCTIONS D’ASSEMBLAGE

VOUS RENCONTREZ DES PROBLÈMES?

NUMÉRO SANS FRAIS :

1 888 670-6684

ENSEMBLE DE DÉTENTE 
MOORE DE 4 PIÈCES — TABLE
Nº DE MODÈLE : 188-1390-8

IMPORTANT : Veuillez lire attentivement ce manuel 
avant de commencer l’assemblage de ce produit.
Conservez ce guide aux fins de consultation ultérieure.



REDÉCOUVREZ VOTRE ESPACE

Pour les chercheurs de tendances et les experts en design, 

CANVASMC est la marque de meubles et de décoration qui 

vous aide à imaginer et à créer un espace dont vous 

pouvez être fier.

C’est parce que CANVASMC offre un style facile avec des 

produits qui sont faits pour la vie réelle et d’inspiration 

canadienne.

Nous serions ravis de connaître votre opinion et nous vous 

invitons à nous faire part de vos commentaires. Visitez 

notre site Web à l’adresse canadiantire.ca pour nous faire 

part de votre expérience et partagez vos photos en 

utilisant le mot-clic #MonStyleCANVAS.

Montrez-nous comment vous donnez vie aux articles 

CANVASMC. Nous avons hâte de les voir!



1 personneClé (incluse)

TABLE DES MATIÈRES

4

6

7

8

9

10

10

10

Liste des pièces

Liste de la quincaillerie

Avant de commencer l’assemblage

Guide étape par étape

Fiche technique

Dépannage

Entretien de votre article

Garantie

OUTILS REQUIS

AVERTISSEMENT! VEUILLEZ LIRE LES CONSIGNES DE SÉCURITÉ 
SUIVANTES AVANT D’ASSEMBLER ET D’UTILISER L’ARTICLE 
AFIN DE RÉDUIRE LE RISQUE DE BLESSURES GRAVES.

• Veuillez lire et comprendre l’intégralité de ce guide d’utilisation avant de tenter 
d’assembler, d’utiliser ou d’installer le produit.

• L’assemblage et l’entretien de cet article ne doivent être effectués que par des 
adultes.

• Certaines pièces peuvent contenir des bords tranchants. Portez des gants de 
protection si nécessaire.  

• Pour éviter tout dommage, placez toutes les pièces sur une surface plane pendant 
l’assemblage. Ajoutez une couche de protection de surface, le cas échéant.



ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — TABLE4

  

1� Dessus de table 1

2� Patte de table 4

LISTE DES PIÈCES

RÉFÉRENCE DESCRIPTION ILLUSTRATION QUANTITÉ



ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — TABLE 5

VUE ÉCLATÉE

1

2
4X



ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — TABLE6

  RÉFÉRENCE DESCRIPTION ILLUSTRATION QUANTITÉ

LISTE DE LA QUINCAILLERIE

A 4

B Clé 1

Vis avec rondelle à ressort
avec rondelle M8x70 



ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — TABLE 7

AVANT DE COMMENCER L’ASSEMBLAGE

?

S'ASSURER QUE TOUTES LES PIÈCES SONT PRÉSENTES

Comparez toutes les pièces aux listes de pièces et de quincaillerie et 
assurez-vous d’avoir tous les outils nécessaires pour l’assemblage.

RETIRER LES MATÉRIAUX D’EMBALLAGE

Remettez les matériaux d’emballage dans la boîte. Ne les jetez pas avant 
d’avoir terminé l’assemblage.

LIRE ATTENTIVEMENT CHAQUE ÉTAPE

ASSEMBLER DANS UNE ZONE DÉGAGÉE

Placez toutes les pièces de la boîte sur le sol devant vous sur une surface 
propre, sèche et plane afin de protéger l’article pendant son assemblage.

Assurez-vous de bien comprendre chaque étape. Si vous avez des questions, 
communiquez avec le service à la clientèle CANVASMC au 1 888 670-6684 (sans frais).



ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — TABLE8

GUIDE ÉTAPE PAR ÉTAPE

ÉTAPE 1

2 X41 X1 A X4 B X1

2

1

A

100 %

B

Fixez chaque patte de table 2 au dessus de table 1 au moyen des vis 

A avec des rondelles élastiques et des rondelles, en alignant les trous.

Une fois la table assemblée, serrez les vis à l’aide de la clé B.



ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — TABLE 9

FICHE TECHNIQUE

DIMENSIONS (larg. x P. x H.)

POIDS

CAPACITÉ DE POIDS MAXIMALE

FICHE TECHNIQUE

109,9 x 60 x 42 cm

43 1/4 x 23 5/8 x16 1/2 po

7,4 kg

16 lb 5 oz

30 kg

66 lb

60 cm
(23 5/8 po)

109,9 cm
(43 1/4 po)

42 cm
(16 1/2 po)



ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — TABLE10

RÉSOUDRE LES PROBLÈMES DE L’ASSEMBLAGE

Si vous avez des questions concernant votre article ou avez
besoin d’une assistance au titre de la garantie, veuillez

appeler notre service d’assistance à la clientèle.

�

NUMÉRO SANS FRAIS :

1 888 670-6684

VOUS RENCONTREZ DESPROBLÈMES?
LAISSEZ-NOUS VOUS AIDER!

 

AVEC VOTRE ARTICLE

1
Gardez toujours les enfants sous étroite surveillance pendant qu’ils utilisent ou 
autour de ce produit. Ne laissez jamais les enfants sans surveillance.

2
Cet article est uniquement destiné à un usage domestique et doit être utilisé à 
l’extérieur.

3 N’allumez pas un feu sous ou près de l’article.

4
Assurez-vous périodiquement que tous les écrous et boulons sont bien serrés. 
Au besoin, resserrez-les.

5
Nous recommandons l’utilisation de housses de meubles lorsque l’article n’est pas 
utilisé.

INFORMATIONS SUR LA GARANTIE

Fabriqué au Vietnam

�Importé par Trileaf Distribution Trifeuil Toronto, Canada M4S 2B8

Nº DE MODÈLE : 188-1390-8

GARANTIE LIMITÉE DE 2 ANS

HORS SAISON : Nettoyez et séchez l’article avant de le ranger dans un endroit sec et abrité.

NETTOYAGE : Le bois est un matériau vivant. Des fissures mineures et un changement de couleur au 
fil du temps sont des caractéristiques naturelles du bois dur. Tous les meubles sont 
traités avec de l’huile de scellement pour bois dur avant de quitter l’usine et doivent 
être huilés à nouveau à la fin de la saison pour maintenir l’état des meubles. Ce 
processus doit être effectué chaque année avec de l’huile de scellant pour bois dur 
appliquée en couche mince sur le bois. Si le bois est exposé à la pluie, les fibres de 
surface du bois se soulèveront légèrement et auront une texture rugueuse. C’est 
normal. Un ponçage léger avec du papier abrasif semi-fin permettra d’obtenir une 
finition lisse. Lorsque cela est terminé, huilez le bois pour lui redonner sa couleur.

APPELEZ-NOUS;
NOUS POUVONS

VOUS AIDER

AVANT DE
RETOURNER

VOTRE ARTICLE

 

ARRÊTEZ!

Cet article CANVAS comprend une garantie de deux (2) ans contre les défauts de fabrication 
et de matériaux du cadre et un (1) an de garantie pour toutes les autres pièces. Distribution 
Trifeuil consent à remplacer l’article défectueux sans frais lorsqu’il est retourné, accompagné 
de la preuve d’achat, par l’acheteur original au cours de la période de garantie convenue. 
Exclusion : usure ou bris causés par un usage abusif ou inapproprié.



REDISCOVER YOUR SPACE



INSTRUCTIONS D’ASSEMBLAGE

VOUS RENCONTREZ DES PROBLÈMES?

NUMÉRO SANS FRAIS :

1 888 670-6684

ENSEMBLE DE DÉTENTE 
MOORE DE 4 PIÈCES — 
CAUSEUSE
Nº DE MODÈLE : 188-1390-8

IMPORTANT : Veuillez lire attentivement ce manuel 
avant de commencer l’assemblage de ce produit.
Conservez ce guide aux fins de consultation ultérieure.



REDÉCOUVREZ VOTRE ESPACE

Pour les chercheurs de tendances et les experts en design, 

CANVASMC est la marque de meubles et de décoration qui 

vous aide à imaginer et à créer un espace dont vous 

pouvez être fier.

C’est parce que CANVASMC offre un style facile avec des 

produits qui sont faits pour la vie réelle et d’inspiration 

canadienne.

Nous serions ravis de connaître votre opinion et nous vous 

invitons à nous faire part de vos commentaires. Visitez 

notre site Web à l’adresse canadiantire.ca pour nous faire 

part de votre expérience et partagez vos photos en 

utilisant le mot-clic #MonStyleCANVAS.

Montrez-nous comment vous donnez vie aux articles 

CANVASMC. Nous avons hâte de les voir!



TABLE DES MATIÈRES

4

6

7

8

16

17

17

17

Liste des pièces

Liste de la quincaillerie

Avant de commencer l’assemblage

Guide étape par étape

Fiche technique

Dépannage

Entretien de votre article

Garantie

2 personnes

OUTILS REQUIS

REMARQUE : Une perceuse n’est pas recommandée; 

soyez conscient du surperçage afin d'éviter tout dommage

 

Tournevis à tête plate n° 2
Taille réelle de la tête

AVERTISSEMENT! VEUILLEZ LIRE LES CONSIGNES DE SÉCURITÉ 
SUIVANTES AVANT D’ASSEMBLER ET D’UTILISER L’ARTICLE 
AFIN DE RÉDUIRE LE RISQUE DE BLESSURES GRAVES.

• Veuillez lire et comprendre l’intégralité de ce guide d’utilisation avant de tenter 
d’assembler, d’utiliser ou d’installer le produit.

• L’assemblage et l’entretien de cet article ne doivent être effectués que par des 
adultes.

• Certaines pièces peuvent contenir des bords tranchants. Portez des gants de 
protection si nécessaire.  

• Pour éviter tout dommage, placez toutes les pièces sur une surface plane pendant 
l’assemblage. Ajoutez une couche de protection de surface, le cas échéant.



ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — CAUSEUSE4

LISTE DES PIÈCES

RÉFÉRENCE DESCRIPTION ILLUSTRATION QUANTITÉ

1� Accoudoir droit 1

2� Accoudoir gauche 1

3� Support inférieur 1 1

4 Support inférieur 2 1

5 Panneau de siège 1 1

6 Panneau de siège 2 1

7 Coussin de siège 1

8 Coussin de dossier 2



ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — CAUSEUSE 5

VUE ÉCLATÉE

7

6

1

2

3

5

2X
8

4



RÉFÉRENCE DESCRIPTION ILLUSTRATION QUANTITÉ

ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — CAUSEUSE6

LISTE DE LA QUINCAILLERIE

  

A Vis M6x60 2

B Vis avec rondelle M6x32 6

C Vis avec rondelle M6x20 5

I Support en L 25x37x52 1

J Clé hexagonale 2

H Entretoise 6,5x22x13 4

G Écrou manchon M6x33 2

F Écrou de barillet M6 Ø10x20 4

E Vis M6x65 2

D Vis M6x85 2



ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — CAUSEUSE 7

AVANT DE COMMENCER L’ASSEMBLAGE

?

S'ASSURER QUE TOUTES LES PIÈCES SONT PRÉSENTES

Comparez toutes les pièces aux listes de pièces et de quincaillerie et 
assurez-vous d’avoir tous les outils nécessaires pour l’assemblage.

RETIRER LES MATÉRIAUX D’EMBALLAGE

Remettez les matériaux d’emballage dans la boîte. Ne les jetez pas avant 
d’avoir terminé l’assemblage.

LIRE ATTENTIVEMENT CHAQUE ÉTAPE

ASSEMBLER DANS UNE ZONE DÉGAGÉE

Placez toutes les pièces de la boîte sur le sol devant vous sur une surface 
propre, sèche et plane afin de protéger l’article pendant son assemblage.

Assurez-vous de bien comprendre chaque étape. Si vous avez des questions, 
communiquez avec le service à la clientèle CANVASMC au 1 888 670-6684 (sans frais).



ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — CAUSEUSE8

GUIDE ÉTAPE PAR ÉTAPE

ÉTAPE 1

3 X11 X1 4 X1 D X1 E X1 F X2 J

1

3

4

D

E

100 %

100 %

F

F

J

J

Fixez l’accoudoir droit 1 au panneau inférieur 3 et 4 au moyen de l’écrou 

à barillet F et des vis D et E en alignant les trous.

Une fois assemblé, fixez l’écrou de barillet F à l’aide de la tournevis à tête 

cruciforme, puis serrez les vis à l’aide de la clé hexagonale J.



ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — CAUSEUSE 9

GUIDE ÉTAPE PAR ÉTAPE

100 %

ÉTAPE 2

2 X1 D X1 E X1 F X2 J

2

D
F J

100 %

E

F

J

Connectez l’accoudoir gauche 2 au cadre assemblé au moyen de l’écrou 

barillet F et des vis D et E, en alignant les trous.

Une fois assemblé, fixez l’écrou de barillet F à l’aide de la tournevis à tête 

cruciforme, puis serrez les vis à l’aide de la clé hexagonale J.



ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — CAUSEUSE10

GUIDE ÉTAPE PAR ÉTAPE

REMARQUE : 
Ne serrez pas les vis à fond 

avant d’avoir assemblé 

entièrement la causeuse.

Une fois l’assemblage 

terminé, serrez chaque vis.

ÉTAPE 3

5 X1 6 X1 B X2 G X2

80 %

5

6

B

G

Fixez le panneau de siège 5 au panneau de siège 6 au moyen des 

vis B avec rondelles et des écrous manchons G, en alignant les trous.

Une fois assemblé, serrez les vis à la main seulement.



ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — CAUSEUSE 11

GUIDE ÉTAPE PAR ÉTAPE

Placez le cadre assemblé sur le panneau de siège assemblé.

ÉTAPE 4



ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — CAUSEUSE12

GUIDE ÉTAPE PAR ÉTAPE

REMARQUE : 
Ne serrez pas les vis à fond 

avant d’avoir assemblé 

entièrement la causeuse.

Une fois l’assemblage 

terminé, serrez chaque vis.

C X5 I X1

ÉTAPE 5

C

I

C
80 %

80 %

Connectez en utilisant les vis C avec rondelles et le 

support en I, en alignant les trous.

Lors de l'assemblage, serrez les vis à la main seulement.



ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — CAUSEUSE 13

GUIDE ÉTAPE PAR ÉTAPE

REMARQUE : 
Ne serrez pas les vis à fond 

avant d’avoir assemblé 

entièrement la causeuse.

Une fois l’assemblage 

terminé, serrez chaque vis.

ÉTAPE 6

B X4A X2 H X4

80 %

80 %
A

B

H

Continuez à fixer le cadre au panneau du siège au moyen des vis A, 

et des vis B avec rondelles et des entretoises H, en alignant les trous.

Lors de l'assemblage, serrez les vis à la main seulement.



ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — CAUSEUSE14

GUIDE ÉTAPE PAR ÉTAPE

100 %

ÉTAPE 7

Enfin, serrez les vis à l’aide de la clé hexagonale J.

J X2

J



ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — CAUSEUSE 15

GUIDE ÉTAPE PAR ÉTAPE

ÉTAPE 8

7 X1

Mettez le coussin de siège 7 et les coussins de dossier 8 sur le siège.

8 X2

7

8

8



FICHE TECHNIQUE

FICHE TECHNIQUE

DIMENSIONS (larg. x P. x H.)

POIDS

CAPACITÉ DE POIDS MAXIMALE

ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — CAUSEUSE16

160,4 x 80,2 x 68,7 cm

63 1/8 x 31 5/8 x 27 3/64 po

17,8 kg

39 lb 4 oz

220 kg

485 lb

68,7 cm
(27 3/64 po)

80,2 cm
(31 5/8 po)

160,4 cm
(63 1/8 po)



ENSEMBLE DE DÉTENTE MOORE DE 4 PIÈCES — CAUSEUSE 17

RÉSOUDRE LES PROBLÈMES DE L’ASSEMBLAGE

Si vous avez des questions concernant votre article ou avez
besoin d’une assistance au titre de la garantie, veuillez

appeler notre service d’assistance à la clientèle.

�

NUMÉRO SANS FRAIS :

1 888 670-6684

VOUS RENCONTREZ DESPROBLÈMES?
LAISSEZ-NOUS VOUS AIDER!

 

AVEC VOTRE ARTICLE

1
Gardez toujours les enfants sous étroite surveillance pendant qu’ils utilisent ou 
autour de ce produit. Ne laissez jamais les enfants sans surveillance.

2
Cet article est uniquement destiné à un usage domestique et doit être utilisé à 
l’extérieur.

3 N’allumez pas un feu sous ou près de l’article.

4
Assurez-vous périodiquement que tous les écrous et boulons sont bien serrés. 
Au besoin, resserrez-les.

5
Nous recommandons l’utilisation de housses de meubles lorsque l’article n’est pas 
utilisé.

INFORMATIONS SUR LA GARANTIE

Fabriqué au Vietnam

�Importé par Trileaf Distribution Trifeuil Toronto, Canada M4S 2B8

Nº DE MODÈLE : 188-1390-8

GARANTIE LIMITÉE DE 2 ANS

HORS SAISON : Nettoyez et séchez l’article avant de le ranger dans un endroit sec et abrité.

NETTOYAGE : Le bois est un matériau vivant. Des fissures mineures et un changement de couleur au 
fil du temps sont des caractéristiques naturelles du bois dur. Tous les meubles sont 
traités avec de l’huile de scellement pour bois dur avant de quitter l’usine et doivent 
être huilés à nouveau à la fin de la saison pour maintenir l’état des meubles. Ce 
processus doit être effectué chaque année avec de l’huile de scellant pour bois dur 
appliquée en couche mince sur le bois. Si le bois est exposé à la pluie, les fibres de 
surface du bois se soulèveront légèrement et auront une texture rugueuse. C’est 
normal. Un ponçage léger avec du papier abrasif semi-fin permettra d’obtenir une 
finition lisse. Lorsque cela est terminé, huilez le bois pour lui redonner sa couleur.

APPELEZ-NOUS;
NOUS POUVONS

VOUS AIDER

AVANT DE
RETOURNER

VOTRE ARTICLE

 

ARRÊTEZ!

Cet article CANVAS comprend une garantie de deux (2) ans contre les défauts de fabrication 
et de matériaux du cadre et un (1) an de garantie pour toutes les autres pièces. Distribution 
Trifeuil consent à remplacer l’article défectueux sans frais lorsqu’il est retourné, accompagné 
de la preuve d’achat, par l’acheteur original au cours de la période de garantie convenue. 
Exclusion : usure ou bris causés par un usage abusif ou inapproprié.



REDÉCOUVREZ VOTRE ESPACE


	CANVAS_ENGManual_1881390_CANVAS Moore 4PC Conversation Set - Club Chair
	CANVAS_ENGManual_1881390_CANVAS Moore 4PC Conversation Set - Coffee Tabl...
	CANVAS_ENGManual_1881390_CANVAS Moore 4PC Conversation Set - Sofa[50]
	CANVAS_FRManual_1881390_CANVAS Moore 4PC Conversation Set - Club Chair[16]
	CANVAS_FRManual_1881390_CANVAS Moore 4PC Conversation Set - Coffee Table...[85]
	CANVAS_FRManual_1881390_CANVAS Moore 4PC Conversation Set - Sofa[45]

